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OB 459 FETE
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1NERER ZLOH HIFC El 3,601
2|EFRE LYD Sk El 3,532
(ki AR _FIVA =] 3,407
A|EEFE F LALS =] 2,989
5|&FfTE WT NEH El 2,812
kB CATE BE =] 2,783
7|ABR% M HBC e 2,615
8|#EFE A BD =] 2,522
ki FR USH =] 2,453
10| /A BA® =i fn— =] 2,361
11|\BETE EHEMI LAZ =] 2,319
12||ETE AL FIpE =] 2,308
13| |ATE Bk LLDOS =] 2,252
14| /ABA% B0 ™k =] 2,225
15| E&fE 8 505 El 2,224
16| ERRE® {AZh #BE El 2,207
17|BXREER HiE kLY =] 2,166
18| &R HE —&% El 2,149
19| /ABA% YL HoL =] 2,135
20(#&FTE ER FALLS =] 2,116
21|#EFE RKAR T58 =] 2,105
2|EFE NG FIPT =] 2,070
23| AARAER BHF {BH E 2,040
[HARHEESR Rl #5652 =] 2,028
25|EEFE FE £LUA El 1,861
26| EFRE f2H M2H e 1,838
27|\ B 1E =] 1,759
28|#EFE INE Lo HA =] 1,694 . 237
29|\l WMFOFE =K =] 1,514
30|#EFTE Al vAH =] 1,510
31|#|EFE I LIZHhHE 1,445 . 762
2| \EFTE BA VAL 1,269
33| EFTE HTE BT 1,041
&t |73350 . 999
BE
NEEESS 73,350.999
BliIEoIETE 0.001
ClEBREH (=A+B) 73,351
D(EMEEH 1,094
E|EIREZR (=D.F) 1.47%
FII#E#$% (=C+D) 74,445
G|ERY 0
H|AZE 0
[IREELEH (=F+G+H) 74,445
JEE =M (=C/30/4) 611.258
KRS (=C/30/10) 244.503
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